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        6683 Statistics 1 Mark Scheme


Comparison of key skills specifications 2000/2002 with 2004 standards
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awrt range -0.44 to -0.46
For negative skew;

Mean<median<mode
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Accept other valid reason  eg. 3(mean-median)/sd as alt for M1A1
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Consider with (b).

Attempt to solve
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If both seen, award 3.
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	Sensible graph scales, labels, shape
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Points lie close to a straight line
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29.02, 3.90

For every extra week in storage, another 3.90 ml of chemical evaporates
(i) 103.12
(ii) 165.52

(i) Close to range of 
[image: image18.wmf]x

, so reasonably reliable




          
(ii) Well outside range of 
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could be unreliable since no evidence that model will continue to hold
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     exact or awrt 0.182
To simplify a real world problem

To improve understanding / describe / analyse a real world problem

Quicker and cheaper than using real thing

To predict possible future outcomes


Refine model / change parameters possible



Any 2
(i) e.g.s height, weight

(ii) score on a face after tossing a fair die
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Venn Diagram
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For independence 
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Let 
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standardise, awrt 0.9545
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allow (a)x(b) for M
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Evidence suggests height and weight are positively correlated / linked

Assumption of independence is not sensible
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